ala=-l:a=0

325 +x)=31+80
75+3x=111
Ix=36

x=12

cJaz-1;a=0 elx=1 glx=0
a=1 a=4 =4
bja=-1:a=0 d]a#%;aiﬂ ﬂx:% hix=0
a=1 a=1 x=1 x=1
3a _ 6 @a-5) _ s g _ (x-1)
427 a) 18 ~ 54 3 ~53 e T x
%=% as5=3 3)(=9H—'|
162a=108 a=8 1=x
a=2
Z _1 3__6 2_ -1
b) % =3 a=0 T = 535 Xx=z2 f) 5= 3
%=% 3x-2)=6 10=5x-5
a=5 3x-6=6 15=5x
x=12 3i=x
x=4
428
429 a)x=0
25+x _ 3 40
325+x) _ 31 . 2.40 N, 6x
HN ~ HN HN
N, 3x | -2
HN  6x |

LA3+12 _ 37
Probe: 212 T 24 v

31 40 37
% =31 ¥
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433

434

435

436

437

438

439

ax=z-3,x=3
x=5

bja=-3,a=3
a=1

x=-2,x=2
x=0

alx=-8
b)ja=28

ala=3
bla=-22

ala=z-2;a=-3
a=-15

b)x =

. 5
Px=E- 3

o1

X

Il

1

W
P lad 4

c)a

;d=

| g

a=4

dix=-1;x= H

a
x=-45

alaz-2;az=2
_ 18 _
a= ¢ =36

blx=-1;x=1

| =

=

alx=-Tx=1
x=5

cla=26
d)x=8

c)a=-8
dx=26

blxz-1:x=1
x=0

b) Da die Definitionsmenge 2 ausschlieBt!

¢) individuelle Lésungen.

ala=-28

bla=5

c)x=-2

ala=-5a=-1

=1

a=3

blaz2a=1
a=2

2

daz-3;a=-4
a=-2

da=z=0:a=3
a=6

daz=-2,a=2
a=3

elx=-3,x=3
x=1

fla=-5,a=5
a=3
_7.,_3
el x= 3:X=3
x=-1
2, 3
f}li i,x: 3
x=2
glx=-2;x=2
=2
X=73
4. _3
h]x# i,x;t 2
K=-2

da=6
ela=12
filx=14

ela=-4a=2

-_2
a=-3
f}a:—%:a#—1

a=6

e)x=-22
flx=3

ela=8
flx=28

elx=-7;x=7
x=59

flaz=-2;a=2
a=3

cJa=-2;a=2
a=a

glx=-6;x=3
x=0

hx=-12;x=3
x=0



alx=0;x=3

x=-3

bix=0x=2

_8
X=3

dn#-i;xi% e)x=5
L=} X=3

djx=-5x=5 fla=0x=1
x=-25 x=-8
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